Laboratory Work Ne 3.30
Measuring resistance using the bridge method
The aim: to explore laws of DC and to measure resistance in a bridge method;
Accessory: model of the gear, source of power supply;

Description of the device and piece of theory
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Scheme of the bridge is a rectangle of resistance. At one diagonal there is a source
of supply, at another-galvanometer (current detector).The latter diagonal is called
as a bridge. If we know three resistances R, R(1), R(2), it’s easy to define the forth
R(X).

If key P and button K are pressed, there is a current in BD. Its direction depends on
which point has greater potential. If potentials ’re equal there is no current in the
diagonal:

p(B)-p(D=0; (1);
In this case current | is divided in two currents I(1-AJIB) and 1(2-AEB).
According to the DC laws, it is obtained:

AL: u=11, 2); ABU= 2T (3)
It follows, that:
B R Y
For JIB and BB: , ’
I,R,=1I,R
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Usually, AD and DC are changed by rheochord (slide-wire)- a kind of
homogeneous wire set along AC.
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In this case R(1) is for AJl and R(2)- for JIB. So, we have:
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Using formulas Ne9 and Ne6 we obtain:

‘1
7

Rx= R.
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After filling up the table, measured values should be compared with theoretical

ones.
R(one by one)=

(R)+(R,)

R(parallel)=




